RERREZSIVIRERBRISOVTERER-A)

D12/11EEH mEttEES Y L
1555
100Bg/ kgZ 251 DO
BREER

No s5 A BRmA AH0RESR L L-134 L L-137 &RHIE

Bg. kg Bg. kg Ba kg
1 H{t R6.12.12 +H BRHET(1.) BRHE9(<7.3) ;- dashcach
2 kS R6.12.12 4R BRHET(<8.1) BRHE9(<8.3) ; Jashcac
3 kDT R6.12.12 =S| BRHEET(<7.2) BRHET(L7.1) BRHEET
4 B R6.12.12 =S| BmHEHE9(<8.4) BmEHE9(<8.4) - Janhcac
5 HfH R6.12.12 =S| BRHEE9(<9.3) BRHE9(<8.3) BmEEd
6 Bt R6.12.12 = BRHE9(<6.5) BRHEET(<L7.8) BRHET
7 H{t R6.12.12 =S| BRHE9(<9.8) BRHEET(<L7.9) BRHET
8 =ESmi R6.12.12 =S| BRHE9(<9.8) BRHE9(<8.0) v dashcach
9 H¥H R6.12.12 4R BRHET(<7.9) BRHE9(<6.8) ; Jashcac
10 kDT R6.12.12 =S| BRHET(<9.9) BRHET(<8.2) BRHEET
11 B R6.12.12 45 BRHET(<L7.5) mHEHE9(<8.1) i Janpcac
12 BT R6.12.12 =S| BmEHE9(<10) BmHEHE9(<8.9) By
13 . /N R6.12.12 =S BRHEET(<L7.2) BRHEET(<L7.3) BRHET
14 ZAWT™H R6.12.12 = BRHEET(<L7.3) BRHET(<8.4) BRHET
15 ELATH R6.12.12 =S| BRHE9(<8.8) BRHE9(<7.9) ;- Jarkcac

BRBEEERICET —HBESOEEE 9L :100Ba/kg(™HL-134, 9 L-13TDHEE)




RERREZSIVIRERBRISOVTERER-A)

@12/12£E 5 WET LSS L
205
100Bg/ kgZ 251 DO
BREER

No s5 A BRmA AH0RESR L L-134 L L-137 &RHIE

Bg. kg Bg. kg Ba kg
1 AIIET R6.12.13 4R BRHET(<9.1) BRHE9(<8.1) BHET
2 AIIET R6.12.13 4R BRHE9(<8.5) BRHE9(<7.9) ; Jashcac
3 B ET R6.12.13 =S| BRHET(<9.8) BRHET(<5.4) BRHEET
4 o EXET R6.12.13 =S| BmRHEHE9(<7.8) BREE9(<74) BmEEd
5 U R6.12.13 =Sy BmHEHE9(<8.8) BREE9(<7.1) BmEEd
6 A R6.12.13 = BRHEET(<L8.7) BRHET(<8.5) BRHET
7 LU R6.12.13 =S BRHEET(<L8.7) BRHET(<8.5) BRHET
8 RIGH R6.12.13 4R BRHE9(<9.8) BRHE9(<8.2) BmHEd
9 INEFHT R6.12.13 4R BRHET(<8.7) BRHE3(<L7.8) ; Jashcac
10 INEFHT R6.12.13 =S| BRHET(<9.0) BRHET(<L6.7) BRHEET
11 B R6.12.13 45 BRHET(<6.2) BmREE9(<7.1) i Janpcac
12 BT R6.12.13 =S| BmRHEE9(<75) BREE9(<7.9) By
13 EAEF R6.12.13 =S BRHE9(<6.6) BRHEET(<L7.6) BRHET
14 @A R6.12.13 = BREET(L1.]) BRHEHET(L7.1) BRHET
15 WhEM R6.12.13 =S| BRHEE9(<7.9) BRHET(<L7.9) - fanhcac
16 mET R6.12.13 4R BRHEF(11) BRHE9(<7.0) BRHET




BREMHR

No SR R HE HElniEa t 9 L-134 3y 1-137 5EE
Bqg kg Bg kg Ba kg
17 JI{RET R6.12.13 =S| BRHE9(<8.7) BRHE9(<7.8) ; Jarkcac
18 IR R6.12.13 4R BRHET(<8.4) BRHET(1.7) BmRHEd
19 i )1 4+ R6.12.13 4R BRHET(L7.5) BRHE9(<8.7) ;- Jashcac
20 kDT R6.12.13 =S| BRHET(<L7.6) BRHET(L75) BRHEET

BRBEERICBTA2—BRBAOEEE £ 9L 100Bg/ks(ESHL-134, 29 L-13TDEEE)




